; This version works for sentences having exactly 6 words

> (setq sentence (read))

(this list of words is long)

> (setq one (car sentence))

THIS

> (setq two (car (cdr sentence))

LIST

> (setq three (car (cdr (cdr sentence))))

OF

> (setq four (car (cdr (cdr (cdr sentence)))))

WORDS

> (setq five (car (cdr (cdr (cdr (cdr sentence))))))

IS

> (setq six  (cdr (cdr (cdr (cdr (cdr sentence ))))))

LONG

> (list three six)

(OF LONG)

> (cons four (list three six))

(WORDS OF LONG)

> (cons five (cons four (list three six)))

(IS WORDS OF LONG)

> (cons (list one two) (cons five (cons four (list three six))))

((THIS LIST) IS WORDS OF LONG)

> (append (list one two) (cons five (cons four (list three six))))

(THIS LIST IS WORDS OF LONG)

; This version was supposed to work for sentences with any number of words greater than 6

; As you can see, the red output has extra parentheses - 

; figure out why and how to get correct answer - you should bring in a printout that works.

; feel free to copy as much of the code below as is useful.
> (setq sentence (read))

 (this list is even longer than the list before)

(THIS LIST IS EVEN LONGER THAN THE LIST BEFORE)

> (setq one (car sentence))

THIS

> (setq two (car (cdr sentence))

)

LIST

> (setq three (car (cdr (cdr sentence))))

IS

> (setq four (car (cdr (cdr (cdr sentence)))))

EVEN

> (setq five (car (cdr (cdr (cdr (cdr sentence))))))

LONGER

> (setq six  (cdr (cdr (cdr (cdr (cdr sentence ))))))

(THAN THE LIST BEFORE)

> (append (list one two) (cons five (cons four (list three six))))

(THIS LIST LONGER EVEN IS (THAN THE LIST BEFORE))

